
Ranger XP900 Cab Back/Dust Stopper 

P/N: EMP-11893 

Made from Hard Coated Polycarbonate 

Fits: Ranger XP900 (not RZR XP900) 

Includes: 
1. (1) Hard Coated Polycarbonate Cab Back 

2. (5) 1/4” x 1-1/4” Black Fender Washers 

3. (2) 1/4-20 x 1” Black Flange Bolts 

4. (3) 1/4-20 Nylon Nuts 

5. (3) 1/4-20 x 3/4” Min. Self Tapping Bolt (black) 

6. (2) 1/8” x 1” wide x 21” Adhesive Backed Foam 

7. (2) 1/8” x 1” wide x 57” Adhesive Backed Foam 

8. (1) 6” Long Velcro Strip (Hook and Loop) 

 

Installation: 
1. Stick foam to all four sides of the cab back (see 

picture).  This will seal your back. 

2. Stick the Velcro to the center of the top.  This 

will keep the top from rattling. 

3. Attach the top with the two bolts, large washers, 

and nuts.  The large washers go on he outside.  

You will want to stick the Velcro to the top too.  

In other words, peel back the tape on the Velcro. 

4. Attach the bottom with the Self Drilling/Tapping 

screws.  You will need to use a drill gun for this.  

The center hole will be drilled at the same time. 

 

 

 


